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s Speed of o Speed of s Speed of
v T Sound, ¢ Temp.,T Sound, ¢ Temp.,T Sound, ¢
“(.gc; 23 (m/s) *c) HF%E (m/s) (°C) HF&E (m/s)
-50 299.7 50 360.3 280 468.3
-40 306.2 60 365.7
-30 312.7 70 371.2 300 476.3
-20 319.1 80 376.6 350 495.6°
-10 325.3 90 381.7 400 514.1
N M—_ 100 386.9 e 331.7
; 548.8
5 3134.4 120 396.9
10 337.4 140 406.6 600 580.8
15 340.4 %0 416.5 700 611.4
20 343.3 180 425.5 800 640.3
25 346.3 200 434.5 ,388 :SZ';
30 349.1 220 443.1 ’
35 351.9 240 451.8
40 354.7 260 460.0
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(Blevins 7% XM XY 27 v 7) BECT
" % 28 | & W’ 2 | &
(C) | (mfs) (°C) | (m/s)
Air -- | -188 - Kerosene . - 20 | 1450
Acetic acid C78,02 20 1164 Ritrogen Np -195 894
Acetone C3Hg0 20 1189 Mercury Hg . 20 1451
Alcohol, ethyl CaHgO 20 1159 Methane CHy, -163 1380
Alcobhol, butyl C4H100| 20 1263 0il, castor -- 20 | 1540
Alcohol, methyl | CH4LO 20 1120 0il, crude (H#86)| =~ 20 1326
Alcohol, isopropyl| C3HgO 20 1170 0il, SAE 30 - 20 1290
Benzene c6ﬂ6 16 1324 laphthtlene clona 90 -t
Carbon dioxide cop . 20 856 Octane Cgljg 20 [ 1197
Carbon disulfide | CSy 0 1157 Oxygen 0, -183 1159
Ether, ethyl C4B100| 20 1006 | Sodium Na 225 | 2461
Glycero1(b) CHg03| 20 1895 | Turpentine - 20 | 1330
Gasoline (Jyeyr)| == 20 1395 Vinyl acetate C4Hg02 20 1152
Helium He ~-269 181 Water, fresh H,0 20 1481
Hydrogen Hy .| =253 1100 Water, sea - 15 1507
Hydrogen chloride| HCl 15.5 1518
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